5calc6: Apply inverse operations and approximate to check answers to problems are of the correct magnitude. (L5)

	0.21 x 0.4
	The change from £10 after spending £6.50, £1.85, 68p and £0.13
	£1764.40 ÷ 20

	5% of £1746.40
	  4 of £87.32
  5     
	£6.32 + 81p

	The change from £20 after spending £6.99 and £5.49
	20% of £87.32


	The change from £5 when you buy two bottles of drink at £1.18 each and a cereal bar at 80p
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No calculators please!

£87.32


x 20








£1.84











Between


0 and 0.1








£0.84








Between £7 and £7.50








Less than £90








£17.46 x 5








7½ + 7 + 5½








£87.32


x 5 ÷ 4
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